KIT09437 KIT; REPLACEMENT OF RLY00765, PROGRAMMING

REQUIRED

| COMPONENT | Description | Item [InDate| Out Date | Qty | Ut
X28020045100 NUT; .25-20 STK 4/28/20 3 | EA
X13300579020 RELAY; GEN PURPSOE, DPDT 12 A 125V, 6 A STK 6/8/200 1 EA
PART- LITERATURE; PARTS INSTALLATION STK 9/2/200 1  EA
X20270128010 KNOB; STAR CLAMPING, 5/16-18 STK 2127120 2 | EA
X05011262010 SPACER; STANDOFF THREADED STK 2/27/20 4 | EA
X28020003000 NUT; LOCK, HEX, 8-32 STK 212720 4 | EA
BRD02942 BOARD; DUAL BINARY INPUT, PROGRAMMING  STK 2/27/20 1  EA
506885150A00 PRINT; SHIP LIST 8.50 X 11.00 PLAIN PAPER ~ STK 2127120 1 | EA
BRD02950 BOARD; STARTER, PROGRAMMING REQUIRED STK 2/27/20 1 EA
X05011311010 BRACKET; MOUNTING STK 8/19/20 2 | EA
X19100029290 BUSHING; STK 2/27/20 2 | EA
X25330033130 SCREW, 6-32 X .75 STK 2127120 2 | EA
X13590275030 TRANSFORMER; SIGNAL CONDITIONER STK 2/27/20 1 EA
X13490936010 TERMINAL STRIP ASSY; 10 POLE DIN RAIL MTD |STK 2127120 1 EA
506876520100 BRACKET; CH531 HUMAN INTERFACE UNIT &  STK 2/27/20 1  EA
BRD02944 BOARD; DUAL RELAY OUTPUT, PROGRAMMING 'STK 2127120 1 | EA
BRD02945 BOARD; DUAL ANALOG /0, PROGRAMMING STK 2/27/20 1 EA
X22010076060 WASHER;LOCK, .19 ID X .39 OD STK 2127120 13 EA
506876510100 BRACKET; CH531 CONTROLS HUMAN STK 2/27/20 1  EA
X39002437010 LABEL; BLANK, BLACK STK 2127120 1 | EA
MOD01404 MODULE; DYNAVIEW, PROGRAMMING STK 2/27/20 1 EA
BRD02102 BOARD; POWER SUPPLY, CH530, 27 VAC STK 2/27120 1 EA
X39002476010 LABEL; FIELD WIRE MARKER STK 6/8/200 1  EA
PART-SVN82B - LITERATURE; PARTS INSTALLATION NLA 6/8/200 9/2/2004 1 Ep
X05011284010 BRACKET; MOUNTING NLA 6/8/200 8/19/2004 2 | EA
X39002453010 LABEL; FIELD WIRE MARKER NLA 2/27/20 | 6/8/2004 1 EA
PART-SVN82A- LITERATURE; PARTS INSTALLATION NLA 2/27/20 6/8/2004 1  EA
X05011261010 BRACKET; MOUNTING NLA 2/27/20 6/8/2004 2 | EA
RLY02547 RELAY; ENCLOSED, 10AMP SPDT 10-30 STK 6/8/200 2 | EA
X18460001010 BUBBLE-PACK; .1875 X 12.0, (750 FEET) STK 2127120 0 | Lir
KIT07430 KIT; LLID INSTALLATION (BOARD STK 2/27/20 1  EA
X18130052010 BOX; DIE CUT 4.25X 3.50X 4.00 STK 2127120 1 | EA
X18210290010 BAG; AUTO, 4 X 5 X 2MIL, TRANSPARENT STK 2/27/20 0 EA
TRR01701 TRANSFORMER; CLASS 1 POWER SUPPLY, STK 2127120 1 EA
BLK00855 BLOCK; TERMINAL, 8 PIN PLUG STK 8/19/20 1  EA
X39000937010 LABEL; SERVICEFIRST LOGO STK 2127120 0 EA
SCR01870 SCREW; 10-32 X 3/8 (1 CTN = 10 PCS) THREAD  STK 2127120 2 Ca
X85210300000 PAPER;PROTECTIVE 18",40#, (875 FEET) STK 2/27/20 0 | Lir
SCR01838 SCREW; 1/4-20 X 3/4 (1 CTN = 10 PCS) STK 2/27/20 1 Ca
CAB00998 CABLE; MULTI-CONNECTOR, IPC BUSS STK 2127120 1 | EA
CAB00899 CABLE; COLUMN TO STARTER MODULE (1 PC. 'STK 2127120 1 EA
X18130051010 BOX; DIE CUT, 3.00 X 2.25 X 2.25 STK 2127120 1 EA



X18100342020 BOX; RESHIP CONTAINER 16.5IN.L X 16.5IN.W X STK
RLY02547 RELAY; ENCLOSED, 10AMP SPDT 10-30 STK
NUTO00519 NUT; .25-20 PTO

2/27/20
2/27/20 | 6/8/2004
2/27/20 | 4/28/2004

1
3

EA
EA
EA



